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Solving Sequence

Ideals for irreducible component#ﬂ)f Xpar

I = (2.79905 x 10%%4*® — 3.47735 x 103%0*7 + - .- 4 2.46397 x 10%°b — 8.54140 x 10,

—1.52263 x 10%7u*® 4 2.01595 x 10376 + - - 4+ 2.46397 x 10*°a + 4.41343 x 10%7, u*® —u*® + ...

I = (u® — 6u’ —u® + 11u* 4 4u® — 6u® + b — 3u,
—u —u® + 7"+ Tub — 16u® — 16u* + 13> + 13u® + a — 3u — 2,

utt — 8u® —u® +23u” + 6u® — 28u° — 11u* + 12u® + 6u* — 1)

* 2 irreducible components of dim¢ = 0, with total 60 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L.
I = (2.80x10%6u*® —3.48 x 1036u*7 4. . . +2.46 X 103°b—8.54 X 103¢, —1.52 X
1037u*84-2.02x 1037474+ - . 42.46 X 1035a44.41 X 1037, u*? —u*®+...—11u—1)

(i) Arc colorings
1
ag
0
u
1
u?
u? + u)

61.7957u*® — 81.8168u*” + - .- — 1478.08u — 179.118
11.3599u*® + 14.1128u*" 4 - - - + 260.816w + 34.6651

(
(e
(
(-
oo (002
- (¢
o=
o=
(-
(-

a1z =
a7 =
ay =
aq =

ag = 11.3599u*® + 14.1128u*" + - - - + 260.816w + 34.6651

0.0440751u%8 + 0.409727u” + - - - + 27.7427u + 11.4620)

50.4358u*® — 67.7041u*” + - - — 1217.27u — 144.453 )

—14.3871u*® + 19.4508u*” + - - - + 353.858u + 45.6249

14.4312u*8 — 19.0411u*" + - - — 326.115u — 34.1629
14.3871u*® + 19.4508u” 4 - - - 4 353.858u + 45.6249

64.0525u*® — 85.7056u*” + - - - — 1545.71u — 185.562
12.0629u*® + 15.1894u*” + - - - + 279.471u + 36.8940

49.9570u*® — 67.3760u*” + - - - — 1201.28u — 146.399
az = 23.5956u*® + 30.8548u*” + - - - + 561.583u + 71.2213

(4.08898u48 —6.07759u*7 + - .- — 126.997u — 13.5152)
ag =

as =

20.0723u*® — 26.3130u*™ + - - - — 472.737u — 58.6870

(ii) Obstruction class = —1

(iii) Cusp Shapes = 16.0931u*® — 20.2673u*" + - - - — 400.029u — 58.9748



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u® 4 ut® 250 -7
C2 u® 420" 4. —33u+1
€3 ut? —3u®® + - +210u — 19
C4 u® —9u'" 4. — 36u+8
Cs5,C9, C10 u' a4~ 13u 1
C6, C7,C12 u' —u® 4 1w -1
c8 u'® —20u*" 4+ 8u—1
i1 u'? — 3u®® 4 ... 4 288u — 32




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

€1 y* — 5y*® 4. 4 4153y — 49
€z g 48y - 3Ty — 1
€3 y*? — 35y*8 + ... + 18032y — 361
C4 Yt —18y*8 + .. + 1232y — 64

C5, €9, C10 y* — 3y 4 443y — 1

C65 C75 C12 y'? —55y* 4+ .+ 81y —1
Cs y* —40y™ + - + 180y — 1
c11 y* + 35y + ... + 56832y — 1024




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape

u = —0.641764 4 0.7677571
a= 0.212708 — 1.0258407 | —5.75634 — 10.262001 6.00000 + 7.478671
b= 1.42317+ 0.516591

u = —0.641764 — 0.7677571
a= 0.212708 4 1.0258401 | —5.75634 + 10.262001 6.00000 — 7.478671
b= 1.42317 —0.516591

u= 0.651655+ 0.6926891
a= 0.330766 — 1.1788501 | —5.91198 + 1.738981 4.34337 — 2.714291
b = —1.300300 — 0.0817271

u = 0.651655 — 0.6926891
a= 0.330766 4+ 1.1788501 | —5.91198 — 1.738981 4.34337 + 2.714291
b = —1.300300 + 0.0817271

u = —0.418476 4 0.844249]
a= 0.040141 — 0.6078781 | —6.42599 + 4.955571 3.91217 — 3.095621
b= 1.308240 — 0.2861591

u = —0.418476 — 0.844249]
a= 0.040141 4 0.6078781 | —6.42599 — 4.955571 3.91217 4 3.095621
b= 1.308240 + 0.2861591

u= 0.916750 4 0.1189801
a= 0.496846 — 0.2224351 0.735978 + 0.0142401 7.49141 — 0.279921
b= 10.612158 — 0.1069271

u= 0.916750 — 0.1189801
a= 0.496846 + 0.2224351 0.735978 — 0.0142401 7.49141 4 0.279921
b= 0.612158 + 0.1069271

u = —0.885292
a = —1.45711 5.54572 19.1080
b= 0.545766

u=0.394498 4 0.7337251
a = —0.353920 — 0.5141571 | —6.67269 + 3.035601 3.18463 — 3.239241
b= —1.47752 + 0.364901




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u= 0.394498 — 0.7337251
a = —0.353920 + 0.5141571
b= —1.47752 — 0.364901

—6.67269 — 3.035601

3.18463 + 3.239241

0.403337 4 0.6748221
a= 0.837586 + 0.9995171
b= 0.918674 — 0.4821451

0.07476 + 3.862791

10.31758 — 8.586031

u= 0.403337 — 0.6748221
a= 0.837586 —0.9995171
b= 0.918674 + 0.4821451

0.07476 — 3.862791

10.31758 + 8.586031

u = —0.493733 + 0.5064241
a = —0.022452 + 1.2056601
b= —1.239100 — 0.2951941

—2.18381 — 1.775831

1.28363 + 3.409441

u = —0.493733 — 0.5064241
a = —0.022452 — 1.2056607
b= —1.239100 + 0.2951941

—2.18381 + 1.775831

1.28363 — 3.409441

u = 0.596049 + 0.3320011

a = 0.0930989 + 0.03226121

b= 0.645047 + 0.3512721

0.939381 — 0.0043771

11.68329 — 2.145601

u=0.596049 — 0.3320011

a= 0.0930989 — 0.03226121

b= 0.645047 — 0.3512721

0.939381 + 0.0043771

11.68329 + 2.145601

u= 0.652271
a= 0.372389
b= 0.495923

0.846303

11.2940

u = —1.401180 + 0.0712821
a = —0.228982 — 1.2968901
b= —0.744826 + 0.1304541

2.86436 — 3.857761

u = —1.401180 — 0.0712821
a = —0.228982 + 1.2968901
b= —0.744826 — 0.1304541

2.86436 + 3.857761




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.488996 + 0.3274007
a= 0.094924 + 1.0567101
b = —0.305008 — 1.2711001

—0.54405 — 4.245171

9.7728 4-10.6066.1

u = —0.488996 — 0.3274001
a= 0.094924 — 1.0567101
b = —0.305008 + 1.2711001

—0.54405 + 4.245171

9.7728 — 10.60661

u= 144515

a = —0.954855 8.23306 0
b= 1.92486
u = —1.45917 4 0.053191
a = —0.69275 + 1.307051 7.20281 — 1.168801 0
b= 0.771612 — 1.0002401
uw = —1.45917 — 0.053197
a = —0.69275 — 1.307051 7.20281 4 1.168801 0
b= 10.771612 + 1.0002401
u= 141436+ 0.364261
a = —0.617433 + 0.6580741 | —0.604182 — 0.5920661 0
b= 1.074250 + 0.0510231
uw= 141436 — 0.364261
a = —0.617433 — 0.6580741 | —0.604182 + 0.592066.1 0
b= 1.074250 — 0.0510231
u = —1.44925 + 0.232831
a= 0.84275 + 1.388991 —0.76793 — 6.485461 0
b= —1.63496 — 0.710581
u = —1.44925 — 0.232831
a= 0.84275 — 1.388991 —0.76793 + 6.485461 0
b= —1.63496 + 0.710581
u= 1.46849 4 0.044971
a= 0.55860 — 1.849411 4.92852 + 3.181891 0

b= —1.027200 + 0.8377131




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 1.46849 — 0.044971
0.55860 + 1.849411
—1.027200 — 0.8377131

4.92852 — 3.181891

—1.49018 + 0.232231

0.993261 + 0.6851721

6.26979 — 7.158021

= —1.49018 — 0.232231
= —0.13850 + 1.624781

]
a
b
]
a = —0.13850 — 1.624781
b
U
a
b= 0.993261 — 0.6851721

6.26979 4 7.158021

1.51747 + 0.101931
a = —0.02195 — 2.180371
b= —0.11588 + 1.861861

u =

6.15386 + 5.814061

w= 151747 —0.101937
a = —0.02195 + 2.180371
b= —0.11588 — 1.861861

6.15386 — 5.814061

u= 0.070104 + 0.4479621
a= 0.86248 + 2.374211
b= —0.112925 + 0.2224591

—1.85819 + 2.413741

0.89088 — 1.572461

0.070104 — 0.4479621
a= 0.86248 — 2.374211
b= —0.112925 — 0.2224591

u =

—1.85819 — 2.413741

0.89088 + 1.572461

u= 1.54796 4 0.138001

a= 0.89692 — 1.562991 4.67206 + 4.011071 0
b= —1.24570 + 0.848851

u= 154796 — 0.138001

a= 0.89692 + 1.562991 4.67206 — 4.011071 0
b= —1.24570 — 0.848851
u = —1.57059
a = —0.818373 8.63484 0
b 1.53662




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

1.58313 + 0.264041
a = —0.66377 + 1.570291
b= 1.47297 —0.746981

u =

1.5668 + 14.11541

u = 1.58313 — 0.264041
a = —0.66377 — 1.570291
b= 1.47297 + 0.746981

1.5668 — 14.11541

u = —1.59972 4 0.240251
a= 0.852446 + 1.0406901
b= —-1.079970 — 0.1663151

1.59039 — 5.256811

uw = —1.59972 — 0.24025]
a= 0.852446 — 1.0406901
b= —1.079970 + 0.1663151

1.59039 + 5.256811

u = —0.330191 4 0.0028461
a= 0.86697 + 4.040001
b= —0.815216 — 0.6605451

—1.14597 — 2.726431

9.81282 + 0.776991

u = —0.330191 — 0.0028461
a= 0.86697 — 4.040001
b = —0.815216 + 0.6605451

—1.14597 + 2.726431

9.81282 — 0.776991

u= 1.69294
a = —0.633603

14.6945 0
b= 0.160994

u = —1.78378

a = —0.529461 11.4992 0
b= 0.690019

u = —0.132976

a= 5.52802 2.79880 —5.65840

b= 1.40427




II. 1Y = (u® — 6u® — u® + 11u* + 4u® — 6u? + b — 3u, —u® —u® +-
2, u't —8u? +--- 4+ 6u?—1)

(i) Arc colorings

= 0)

0
a2 = \u

1
a7= u
o= (L)

u9+u8 Tu” — Tu® + 16u® + 16u* — 13u® — 13u?2 +3u + 2
a4 = —u8 4 6ub + ub — 11u* — 443 + 6u? + 3u

—uZ+1
ag = \y? — 22

u? — 7u” —ub + 170’ + 5ut — 17ud — Tu? 4 6u + 2
as —u® 4+ 6ub + ub — 11u? — 44 + 6u? + 3u

—u +4u? —3
=\ =5’ —ut + TP+ 3w —2u—1
—u +5u — Tt ut+2u—2
= \u’ — —ut TP+ 3 —2u—1

u® — 7u7—2u +17u +9u —16u® — 11u? +4u+3
as = ub — dut — u® + 4u? + 2u

2u? + u® — 134" — Tub + 28u® + 15u* — 23u® — 10u2 + Tu
az = \ —¢% —u® +6u” 4+ 7u8 — 11u° — 15u* + 5 + 10w +u — 1

—u® —u” +6u’ +7u — 12u* — 143 + 9u? + 8u — 2
ag = wl® — 708 — w7 + 17u8 + 4u® — 16u* — 4u® + 4u?

(ii) Obstruction class =1

(iii) Cusp Shapes
=200 + 509 — 13u® — 35u” + 22u8 + 88u® + 5u? — 94u3 — 2942 + 33u + 21

10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u —8u' 4 4 6u — 1
C2 w3 4wt 1
s ult — 4u® 4 6u® 4 4u” — 15u° + 8u® 4+ 9ut — 11u® + u? + 3u —1
¢4 utt — ul® — 500 4+ 5u® + 8u” — 9u® — 6u® + Sut + 4ud —4u? —u +1
= ut —du® F b " 4 3 et - -1
Cg, C7 ut™ — 8w — u® +23u” + 6u® — 28w — 11ut + 12u% +6u% — 1
s utt +ut? — 4u® — 40P 4+ 8u” + 6u’ — 9u® — Sut 4+ 5uP 4 5u® —u — 1
Cg, C10 =4 — a4+ 30—t 41
ci1 utt +u® — " = 3ub —ut = e -1
c12 ut — 8u® + u® + 23u” — 6u’ — 28u° + 11ut + 12u® — 6u” + 1

11



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 gt oyl0 4 4oy — 1

Co gt 3yl 4 ddy 1

€3 yt =8yl 11y — 1

Cy4 gt o1y oy — 1
Cs,Cg, C10 yt =8yl 4187 — 3% — 23y +4yS 11+t 2P P — 2y — 1
C6, CT, C12 y't =16y 4+ 12y — 1

cs gyt ooyl 11y — 1

c11 Yyt 2yt — g — 2B — T — 1195 — 4y® + 23y + 37 — 182 + 8y — 1

12



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
u= 0.878786
a = —1.68666 4.86824 6.36840
b= 0.926856

u = —1.076610 + 0.3151151
a = —0.290331 + 0.2099191
b= —0.724726 + 0.2566741

0.954503 + 0.9283331

11.11734 — 6.679411

u = —1.076610 — 0.3151151
a = —0.290331 — 0.2099191
b= —0.724726 — 0.2566741

0.954503 — 0.9283331

11.11734 4 6.679411

u = —0.334220 + 0.3502057
a = —0.55984 + 2.811561
b= —0.785078 — 0.6517391

—1.45690 — 3.349421

3.58906 + 9.960481

u = —0.334220 — 0.3502051
a = —0.55984 — 2.811561
b= —0.785078 + 0.6517391

—1.45690 + 3.349421

3.58906 — 9.960481

u = —1.52390
a = —1.26943
b= 2.03629

9.60351

18.6690

1.52509 + 0.121331
0.66157 — 1.925701
—0.785157 4 1.1004301

4.99526 + 5.073007

8.69107 — 6.176991

1.52509 — 0.121331
0.66157 + 1.925701
—0.785157 — 1.1004301

4.99526 — 5.073001

8.69107 + 6.176991

0.357380
1.15323
1.49451

3.06451

25.4100

—1.71050
—0.920514

U
a
b
]
a
b
U
a
b
U
a=
b= 0.631482

14.2218

4.29470

13



Solutions to I¥ V—1(vol + v/—1CS) Cusp shape
u= 1.76972
a = 0.100596 11.8941 20.4630
b= -0.499214

14



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 ('t —8ut® + -+ 6u—1)(u* +u 4+ 4250 —7)
C2 (w430 - —du 4+ 1) (u* F 20+ = 33u+ 1)
cs (ut — 4u® 4 6u® + 4u” — 15u8 + 8u® + 9u? — 11w 4+ u® + 3u — 1)

(" = 3u 4+ 4 210u — 19)

4 (' — u'® — 5u® + 5u® 4 8u” — 9ub — 60’ + Sut + 4uP — 4u? —u+1)
(u?® = 9utT 4 - — 36u + 8)
¢ (u — 4?4 = = D)W a4+~ 13u 1)

(u't — 8u® — u® 4 23u” + 6u® — 28u® — 11u* 4 12u® + 6u® — 1)

Ce, C7
(= =1l - 1)
cs (ut 4+ w0 — 4u® — 4u® + 8u” + 6u’ — 9u® — 8ut + 5u 4 5u? —u — 1)
S(u? =200 4 8u— 1)
¢y, C10 (ut —4u® 4+ D o~ 13u+ 1)
c11 (ut 4+ u® + - 4 4u? — 1) (u® — 3u®® + -+ 288u — 32)
1o (u*t — 8u® 4+ u® +23u" — 6u® — 28u° + 11u* + 12u® — 6u® + 1)

= = 11w - 1)

15



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

1 (y't — 2910 - 440y — 1)(y*° — B5y*® + - + 4153y — 49)
C2 (' 4310 4+ ady — 1)(y* + 48y 4+ 3Ty — 1)
€3 ('t =8yl 4+ 11y — 1)(y* — 35y*8 + - - - 4 18032y — 361)
Cq (' =110 + 9y — 1) (0 — 18y*8 + - + 1232y — 64)

cs. Co. €10 (' —8y™ + 18y — 3y® — 23y" + 4y + 11y° + y* + 207 +y2 — 2y — 1)

Sy =3yt -+ 43y — 1)

C6,C7,C12 (y*t — 1650 + -+ + 12y — 1)(y49 — 55y + ... 481y — 1)
‘s (" = 9"+ + 11y — 1)(y* — 40y™ + - + 180y — 1)
1 (" +2y" —y® — 20 — " —11y° — 49° +23y* + 3y° — 18y + 8y — 1)

- (y* + 35y 4 - .- + 56832y — 1024)
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